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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
W QI
= 1 70, 792, 058
WL (NIRRT
= 1 40, 362, 310
VTR E R T
= 1 11, 150, 000
VR IEARE R
m3 10, 000 1,115 11, 150, 000
VEZE MR T
= 1 21, 450, 924
TR E 60m37i
= 1 21, 450, 924
%11
= 1 7,761, 386
w1
= 1 3,771, 386
b S TE b Cash ERIRY L&)
(5 /N )
= 1 2,817, 000
Lt
= 1 1,173, 000
BT
= 1 20, 863, 000
B T
= 1 20, 863, 000
FEIA O—=27) +H
= 1 2, 220, 000
b S TE b Cash ERIRY L&)
(Aby2¥=N ~5EAH)
= 1 17, 470, 000
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
L
= 1 1,173, 000
Mgt R T
= 1 1,587,913
HEXTESKRT
= 1 1,235, 163
TE%E PR (R A L A
B ) HNE=30kg/m3 (ML)
m3 500 2,011 1, 005, 500
B AR S B E S
= 1 229, 663
P T
= 1 352, 750
b S TE b Cash ERIRY L&)
(5 /N )
= 1 183, 100
FEIA O=27) +H
= 1 111, 000
Lt
= 1 58, 650
e
= 1 7,978, 835
THAERK LT
= 1 3, 764, 512
T3 B
= 1 1, 044, 500
TR AE R LR
= 1 1, 085, 000
FERAR
(CHMHER)
= 1 1,278, 552
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
FERAR
(U & AR5
= 1 356, 460
FIERVA G Y ) 1514
= 1 3, 269, 807
SRRAR M#A  L=9. 5m
= 1 1, 839, 810
Bk fEk L
= 1 173, 083
FERAR
GHNEY- -85 14)
= 1 295, 176
K- 9 ZHE Mt S (142 xbhis
= 1 754, 134
KA+ 5 ik
= 1 207, 604
R i % 1.
= 1 221, 892
REE R H200X 200 H=10. Om
= 1 221, 892
158G Ik T
= 1 722, 624
T5VERE 17 20 A
= 1 722, 624
B L
= 1 70, 792, 058
BTl TE:
= 1 27, 031, 847
BTl TE:
= 1 21, 396, 891
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TR
= 1 17, 984, 225
T RR A oy FRAR ST A B
= 1 7, 262, 640
fids s - bR
= 1 6, 481, 247
IR T
= 1 2, 543, 746
VESERRSE I 2
= 1 1, 696, 592
el 2y
= 1 2, 646, 576
Wit Gar)il
= 1 2, 646, 576
Htre m
= 1 30, 621
I CHAmEIER
= 1 30, 621
BUGERRYGEE (K5 1)
= 1 735, 469
HimE R (FE L)
= 1 5, 634, 956
Wi
= 1 97, 823, 905
BTk X=giiv oy
= 1 25, 837, 134
R 5]
= 1 123, 661, 039
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
— e
= 1 20, 388, 961
Tk
= 1 144, 050, 000
THE B 2 %8
= 1 14, 405, 000
TG
= 1 158, 455, 000

-5- E s Abkei )7 &6 R




